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QUESTION 1

Which of the following describes a Tab Control? 

A. A control that outputs ASCII values equal to the selected tab label 

B. A type of enumerated control 

C. A control that outputs a cluster of the controls / indicators on the tabs 

D. A controls that outputs the tab order of the controls on the front panel 

Correct Answer: B 

 

QUESTION 2

In the figure below, the output of Array Size is 

A. a 1-D Array of {2, 3} 

B. a 1-D Array of {3,2} 

C. 2 

D. None of the above 

Correct Answer: A 

 

QUESTION 3

The Wait function can be added to While Loops: 

A. To free up available memory. 

B. To allocate memory used by the CPU. 

C. To allow the processor time to complete other tasks. 

D. To reserve which processor the code is running on. 

Correct Answer: C 
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QUESTION 4

Which VI will acquire one temperature data point every 5 minutes for 12 hours? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

 

QUESTION 5

The following breakpoint does which of the following: 

A. Causes the VI to abort 

B. Causes the VI to pause 

C. Causes the VI to single step over the addition 

D. Causes the VI to single step over the indicator 

Correct Answer: B 
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